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General Instructions :

(i)  Answer to questions carrying 1 mark may be from one word to one sentence.

(ii) Answers to questions carrying 3 marks may be from 50-75 words.
(iii) Answers to questions carrying 4-5 marks may be about 150 words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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1. 3wl & e I A 7 77 Wieq ¥ a1 {6l ek TRt | fHeredl il @ W 36! 9ol
IR U T T 3T STAA H el AT UGl | e SUITRT ®RE § RTehrad AT aredm o
TR 5T Wi ¥ e TR H B T T §H % HROT FF UHT TaT BT TbT | ST
TRY H T g5 8 & felu I sl 1 Y107 U T e o, S9ehT ATH SdsU |

On the eve of Diwali Ravi purchased two kilograms of sweets from Nandan Sweets.

On consumption of sweets his wife fell sick and was to be hospitalized. Ravi wanted
to file a case in the consumer forum but could not do so because he did not have any
proof of buying the sweets from Nandan sweets. Name the document that Ravi could
had obtained for filing the complaint in the consumer forum.

2. U oS I BT ST ATeshi Sl 38 Solifast ¥ 5 A &q URd & & forw
forsiToe, =afaRTe fosha dem Tk Ui dehmiiehl U STRT T = 3 W&l & | TRl UX Eerad
fauur fs1 o A St TEAH HIT |

A TV manufacturing company is spending substantial amount of money to persuade

the target customers to buy its T.V. sets through advertisements, personal selling and
sales promotion techniques. Identify the element of marketing mix referred here.

3. U Ul (T e fafaeienor e wRdl € 317 U Wit Sce T3 o @ € | e
i IR G STavgehdreti TR fafeeierior o T9Ta 1 SHROT Wfed 3eeid iy |

A textile company is diversifying and starting a steel manufacturing plant. State with
reason the effect of diversification on the fixed capital requirements of the company.

4. TFoRT Set Fot & srfafer fad HoT &1 SR forga Mol @ wated & | 39 MRt & AW
FART |

Besides the investment decision the finance function is concerned with two other
broad decisions. Name these decisions.

5. faumer & 9iiue Scqd Sl el M & o0 fo=iterd o T 3 9t nidtatat s s
gl § S 31 | Ui S 1 U fafTe & S ganary, geiae, HY YeEH, STet S
Fl @G FAT A | FAF YT hI TH AR TeAS b IS0 H @M T | U A °
T FRT U6 o 519 1 1 FHeare o 7 3%eht Uga Sifsy |

To make the annual function of the school successful the principal of the school
divided all the activities into task groups each dealing with a specific area like

rehearsals, decoration, stage management, refreshments etc. Each group was placed
under the overall supervision of a senior teacher. Identify the function of management
performed by the Principal in doing so.
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6. TSI % Uh TR & &7 4 fafe = 1 gifsw | 1

Give the meaning of ‘Method’ as a type of plan.

7. AHSE GYES® BET H ThHeHBAT HY AT € 2 o0 BT | 1

How does co-ordination integrates group efforts ? State.

8. VY H HUICT T 3 T 2 1

What is meant by ‘Efficiency’ in management ?

9. SN T &t fohgl dF HHT3T & Sooid ity | 3

State any three limitations of informal organization.

10. fu=el 39 auf ¥ &1 g o TH=y famde’ | U Guriy fosht uees o | fouue weues
% WA &H WX 8T 4 39 US & [olU 3Mag foham Siifeh o8 aIgd Hecaehiatl of aem 39+
3O WRT TR [qUUT Teiee 1 U U A | of &1 At | R HET o 3 FeEd |
FHIN o X I T dgck AT o T R T IS ol WA 1 U fefar | 39 HROT =T
=1 &t 22 T T S e 5 T |

g 7Y TUUH JeEe § USHR UEUT THAT a1 SHeh! Ush YT qHE o T 8T i 3Tk
T FToTeT TR W A % g ¥ SR foham < |

T3 TqUU eiereh B hig A9 IR AR Temew [k STanT @ =eT @i Sihmia
fopam ST e & | 3

Neha was a regional sales manager in ‘Good Look Garments Ltd’ for ten years. On
the retirement of the marketing manager Neha applied for the same post as she was
extremely ambitious and had dedicated all her energies to obtain the post of
marketing manager. However, the top management of the company decided to fill
this post by selecting a better person from outside the company. Because of this Neha
was heart-broken and her performance declined.

When the new marketing manager joined, one of her major problems was how
to motivate and inspire Neha to her former level of performance ?

Suggest any three non-financial incentives that the new marketing manager
may use to motivate Neha.
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11. ‘U I SR i GeTq Tohameiictar AU it & folt ueh afsha U gigie Miies Ik &
1T ek IR SITe]oT a2 fgdiaes aeTR & folT WehRIcHeh T el ararerr UeT shiar & I
TG o o TS | AT ISR o fheel A il bl Sooid ShireTq |

‘Efficient functioning of stock exchange creates a conducive climate for active and

growing primary market for new issues as well as for an active and healthy secondary
market.” In the light of this statement state any three functions of a stock exchange.

12. 39 UlhaT ol A Jd1ET 997 ST UG ShifeT ST fohdl Ug a1 619 o o0 Svifera sheniar
I Tl T H HEE HLdl € |

Name and define the process that helps in finding possible candidates for a job or a

function.

13. T SfiE A9 & 927 B 9T P RISt & & § @A Aewaw § | uE e |
ToIoaTatl B Sooid ST ST Ueh TS5 S A | g 916y |

There are some characteristics that should be kept in mind while choosing a brand
name. Explain any two such characteristics that a good brand name should have.

14. o T 7 A & H Ueh TRAE TeET T 9 e TEET Yoy H Sy Sl Sy e
H T | U 2o T Hr B SHR! g Ae Gare YU & €9 H gg € | B &
T 1,500 SHHEER] & T 3T I TEh! [0 &1 Teh I & 5194 29 faig=1 Tehr o st
% foIw 500 31faRem =il S SMawashar & | & R T HEAT & TG G a9 o
9o SRR Gia S MR |

3 fafere niafafuat 5t gt ST St et & Je THIEA T & &9 2 R B
Tomfed et & |

Mr. Naresh recently completed his M.B.A. from one of the Indian Institutes of

Management in Human Resource Management. He has been appointed as Human
Resource Manager in a Truck Manufacturing Company. The company has 1,500
employees and has an expansion plan in hand that may require additional 500 persons
for various types of jobs. Mr. Naresh has been given the complete charge of the

company’s Human Resource Department.

List out the specialized activities that Mr. Naresh is supposed to perform as the

Human Resource Manager of the company.
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15. TR 31 el W A% Feed w1 6 wfos § o e § a1 R R § 0 qE Ve
MR AT H § Th & | 3k (7T STawash & 7o 2 oft 9 ¥ Ut veiwsh Ueh fqam o
H 1T € o o/ 1 B [ ST | T8 1l ISHIcHedT a7 ey 9 31fd Fehe 9 STer
T T | T8 &9 Fel TS & AT &6 Fal ST € o T QG H1 1 Ll & a1 38 YT H
T W WY feaTted fopar S €
T T gU o Ty % SR a0 HE H ST HEG § | TEeh! fohwel &l Wwiet &
HHSATRY | 4
It is deciding in advance what to do and how to do ? It is one of the basic managerial
functions. It requires that before doing something, the manager must formulate an
idea of how to work on a particular task. This function is closely connected with
creativity and innovation. It seeks to bridge the gap between where we are and where
we want to go and is performed at all levels of management.

Inspite of this the function of management referred above has a number of
limitations. Explain any two such limitations.

16. U UIERUT AMTES Ggaviid FHOA TURIEA, e’ v Hared o o §8 well-wifa
TR ST fagidr 1 uret Xt & | ek heeed /1 316 3¢ W & Sl ¢ |
TURTA, TAHes’ §RT U Tl STH el 39 YaTeRvT Tl ShReh Heteiad & : 4
(1) 59 <20 § BT 1 GATe & F8T o I 1 I DT |
(2) T IR Bl TEHIA T AA-RETA 1 S HI |
(3) W fava & Siee @l UrEm H GERA & 6T oS a9 QR 3ca1g SUeTsd HET |
(4) FEAT T UH UG GG B (TR BT ST Yee T 59 & TeT qRENe [G9ard e

T St T A §U SATRITA TSRSl T SMH-A16AT H g e o |

EENESES]

() U9 & fhd U AT TagT= qe TSRl Ueh TaieRoT Tl 3T i 9ed i gu
ITEH oo HIT |

(i) UH 2l & Tl S A T S e SIS T a9 TRt
Tt R AT I T B & |

An environmental conscious multinational company “AXN Ltd.” follows certain well

defined business principles that result to minimize the employee turnover. Following

are some of the important environmental factors followed by ‘AXN Ltd.’

(1) Honour the law of every country in which it operates.

(2) Respect the culture and customs of all nations.

(3) Provide clean and safe products to enhance the quality of life throughout the
world.

(4) Develop a culture in the company that enhances individual creativity and team
work while honouring mutual trust and respect between management and
labour.

From the above :

(1) identify and state any one general principle of management and any one
dimension of business environment.

(i) also identify any two values which the above guiding principles and
environmental factors are conveying to the society.
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17.

18.

19.

20.

THEE o AT TaTeReT ®H THet Fay w T H R TR werEdr wRet ¢

() SYART TQTEAT T e HA o, q=

(@) e | & 3§ UREcHT T AT A o

Explain how does the understanding of business environment help the management in
the following :

(a) tapping useful resources ; and

(b) coping with rapid changes.

fafaeiietor o tfafe mdt ISt i STavaharsi sl UHIad H aTet [l 9’ SHRe6T 61
IeRE HIT |

State any four factors except diversification which affects the fixed capital

requirements of a company.

MU AT 7 YR § ¥ T ST TR B arett 10,000 Teie wiafeT s o arett ueh
TR WehHUT SohTE Sl ST Sl & | ST o AT He & ST ol 100 fHetielie aret 221 Uk
7 foue #X H § | 36 foTT U ot Teures Sy |

Your company has setup a food processing unit in Kashmir with a production
capacity of 10,000 litres of apple juice per day. The company plans to market the
apple juice in tetra pack of 100 mili litres. Design a label for the same.

T HIAT T 20,000 FIE DT MeH TGSt & Gre HET AT & ST USihd § |
ST USTidhd AT fSoctl H TaT ST SCUR $ohTs IS & Ueh Use et ¥ ferd € |
TqH fouu faumr e # ferd & 1w BRE gfer FgTW Y (TEUH.EIST) @6
IR A § |

(i) T o =l Feraar ¥ ! o (o7t SUgeR Te erdl o eI AT |

(i) 39 ETeA B o [l T ATdl 1 Joerd HIT |

A company has been registered under the Companies Act with an authorized share

capital of ¥ 20,000 crores. Its registered office is situated in Delhi and manufacturing

unit in a backward district of Rajasthan. Its marketing department is situated in

Bhopal. The company is manufacturing Fast Moving Consumer Goods (FMCGQG).

(1)  Suggest with the help of a diagram a suitable organization structure for the
company.

(1)) State any three advantages of this organization structure.
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21. 9 T S ATEqul ST & T o feTw Segep aidl €, Sw¢ THuoT S Sene i g8
% foTT U U X AT qAT HUTOT Sl JHTYOTT H IR T AMeT ° U fohegl o
3TN T G <1t §U I¢ IR | 5

‘The organizations which are keen on developing effective communication, should
adopt suitable measures to overcome the barriers to communication and improve
communication effectiveness.” Suggest and explain any such five measures.

22.  ‘SMEHA (i-%IF) e fafade’ sTemyfes S & HidTgel B ot FHETaT & | HEE F ST
T 30 TSNTTE ol URTTeTe 6T & | e 370 HisTeet i T fauur T qem STeRTse i TR
T AT & | 3T - ! T[UTET o HROT HEAT B ST b Il T 9T I =07 o
AT ITF Uesh M@ g FH o | et foda o ¥ aR o dfaeael o $HRoT SHeH
31O e U &1 h< OT T&F &t | SHET ol AT TIAT FHEA0T JOTedt h1 SHUTER e 3t
T

() ST ST | F-ed Fa= Dl STTIROMST I Tga-u |

(i) SHUTYR % T 90T Uishar & 3 =RON ol d1E0 S Aty d HET 70T 39
T T AT =t & |

(i) T fdl U Go T Sooi@ o HifSTY F7 SHEAT THST bl GEITTT T TR € | 5

‘i-phone India Ltd.” is a manufacturer of advanced category of mobile phones. The
company trained its engineers from Japan. It markets its mobile phones domestically
as well as internationally. The company had a substantial market share and had a
loyal customer following because of quality of its i-phone. From the last financial
year the company had been unable to achieve its targets because of competition in the
market. The company is planning to revamp its controlling system.

(1)  Identify the concepts of management involved in the above para.
(i) State the steps of the revamped controlling process to be followed by the
company to solve this problem.

(ii1)) Also, state any one value which the company wants to communicate to the
society.

23. 379, 3EHS OUT Uel Ush %H H HIERR ¢ S HeNZ 5T H S SART ol foaior et ¢ |
3 HEE WA T SIE W SAEHIgew ST % Uh dehieush [Gug & AT Ieady
AreAfTe fo=Ter JHUO %1 4R § | 3TeHS F e § a9 Uell 4 U F H Eah
fohar g3 & | U f57 3Tews @ Uell | e i Ui o fawa | TR ==l 88 | 3TeUS 1 T8
T o o veiey Uk UNT & STk Uel g9eh ok 0 of | SWehT FeT o fob b e Aieshl
TP € et U €, itk o Ul % forw iR @t STt B O R § | SATEIa ST 6
3T [ & YR TR ST = 3gHS AT UeAl bl U= i Fpicl o ®F H UST I THSAAT |

U o 3T = 3THS a7 Uetl JM1 i fhe FhR T T | 6
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Aman, Ahmad and Ally are partners in a firm engaged in the distribution of
dairy products in Maharashtra state. Aman is a holder of Senior Secondary School
Certificate from Central Board of Secondary Education with Business Studies as one
of his elective subjects. Ahmad had done his post graduation in History and Ally in
dairy farming. One day their was a serious discussion between Ahmad and Ally
regarding the nature of management, Ahmad argued that management was a
profession. Where as Ally argued against it saying that the legal and medical
profession are the only professions because they fulfill all the conditions of
profession.

Aman on the basis of his knowledge of business studies explained the nature of

management as a profession to Ahmad and Ally.

Explain, how Aman would have satisfied both Ahmad and Ally ?

24, fosRg v B SHGUS i e st e BT |

Describe the role of public relations in sales promotion.

25. ol SI9TR & it i GHEET |

Explain the functions of financial market.
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7

1

Q. On the eve of Diwali Ravi purchased two
kilograms of sweets from Nandan Sweets.On
consumption of sweets his wife fell sick and was to
be hospitalized. Ravi wantedto file a case in the
consumer forum but could not do so because he
did not have anyproof of buying the sweets from
Nandan sweets. Name the document that Ravi
couldhad obtained for filing the complaint in the
consumer forum.

Ans. Cash memo.

1 mark

Q. A TV manufacturing company is spending
substantial amount of money to persuadethe target
customers to buy its T.V. sets through
advertisements, personal selling andsales
promotion techniques. Identify the element of
marketing mix referred here.

Ans. Promotion/ promotion mix.

1 mark

Q. A textile company is diversifying and starting a
steel manufacturing plant. State with reason the
effect of diversification on the fixed capital

1 mark

23




requirements of the company.

Ans. With diversification, the fixed capital
requirements will increase as the investment in fixed
capital will increase.

Q. Besides the investment decision the finance
function is concerned with two otherbroad
decisions. Name these decisions.

Ans. Two other broad decisions are:
(i)Financing decision
(i1) Dividend decision

%Bx2

1 mark

Q. To make the annual function of the school
successful the principal of the schooldivided all the
activities into task groups each dealing with a
specific area likerehearsals, decoration, stage
management, refreshments etc. Each group was
placed

under the overall supervision of a senior teacher.
Identify the function of managementperformed by
the Principal in doing so.

Ans. Organising

1 mark

Q. Give the meaning of '"Method' as a type of plan.

Ans. Method is the prescribed way or manner in
which a task has to be performed.

1 mark

Q. How does co-ordination integrates group
efforts? State.

Ans. Co-ordination integrates group efforts by
unifying diverse interests thereby giving them a
common focus to ensure that the performance is
according to the plans.

1 mark

Q. What is meant by ‘efficiency’ in management?

Ans. Efficiency means doing the task correctly and
with minimum cost.
(or any other correct meaning)

1 mark

Q. State any three limitations of informal
organisation.

Ans. Limitations of informal organisation:
(1) It leads to spread of rumours.
(i) It may lead to resistance to change.

1x3
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(iii) It pressurizes members to conform to group
expectations which may be against organisational
interest.

(If an examinee has given only the heading, 5
mark for each heading should be awarded)

3marks

13

12

10

Q. Neha was a regional sales manager in 'Good
Look Garments Ltd' for ten years. On the
retirement of the marketing manager Neha applied
for the same post as she was extremely ambitious
and had dedicated all her energies to obtain the
post of marketing manager. However, the top
management of the company decided to fill this
post by selecting a better person from outside the
company. Because of this Neha was heart-broken
and her performance declined.

When the new marketing manager joined, one of
her major problems was how to motivate and
inspire Neha to her former level of performance?
Suggest any three non-financial incentives that the
new marketing manager may use to motivate
Neha.

Ans. The non-financial incentives that the new
marketing manager may use to motivate Neha are:
(Any three)

(1) Job enrichment which is concerned with designing
jobs that include a greater variety of work content,
require higher level of knowledge and skill, give more
autonomy and opportunity for personal growth.

(i) Employee recognition which means
acknowledgement with a show of appreciation.

(ii1) Employee participation which means involving
employees in decision making of issues related to
them.

(iv) Employee empowerment which means giving
more autonomy and powers to subordinates.

(v) Job security which refers to providing stability to
the employees about future income and work so that
they do not feel worried on these aspects and work
with greater zeal.

(If an examinee has given only the heading, /2
mark for the each heading should be awarded)

% mark for
suggesting
the incentive
+
Y% mark for
stating the
incentive
=1x3
=3marks

12

13

11

Q. 'Efficient functioning of stock exchange creates
a conducive climate for active andgrowing primary
market for new issues as well as for an active and
healthy secondarymarket.' In the light of this

1 mark for
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statement state any three functions of a stock each
exchange. statement
Ans.Functions of Stock Exchange are: (Any three) 1x3
(a) It provides liquidity and marketability to existing =
securities. 3 marks
(b) It determines the price of securities by forces of
demand and supply.
(c) It ensures safety of transactions as the transactions
carried out within an existing legal framework.
(d) It contributes to economic growth as it indirectly
promotes capital formation.
(e) It spreads equity cult and ensuring wider share
ownership.
(f) It provides scope for speculation within the
provisions of law.
(If an examinee has given only the heading, 2
mark for the each heading should be awarded)
11 - 12 | Q. Name and define the process that helps in 1 mark for
finding possible candidates for a job or a function | identification
+
Ans. Recruitment. 2 marks for
definition
Recruitment may be defined as the process of =
searching for prospective employees and stimulating 142
them to apply for jobs in the organisation. =
3 marks
10 - 13 | Q.There are some characteristics that should be
kept in mind while choosing a brandname. Explain
any two such characteristics that a good brand Y2 mark for
name should have. the heading
+
Ans. Characteristics that should be kept in mind while | 1 mark for
choosing a good brand name:( Any two) each
(1) Short and easy to pronounce, explanation
(i1) Suggestive =
(ii1) Distinctive. 1% x2
(iv)Adaptable  to  packaging and labelling =
requirements. 3marks
(v) Versatile
(vi) Capable of being registered and protected legally.
(vil) Staying power.
(if an examinee has not given the headings as
above but has given the correct explanation, full
credit should be given)
17 16 14 | Q. Mr. Naresh recently completed his M.B.A. from
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one of the Indian Institutes ofManagement in
Human Resource Management. He has been
appointed as HumanResource Manager in a Truck
Manufacturing Company. The company has
1,500employees and has an expansion plan in hand
that may require additional 500 personsfor various
types of jobs. Mr. Naresh has been given the
complete charge of thecompany's Human Resource
Department.

List out the specialized activities that Mr. Naresh is
supposed to perform as theHuman Resource
Manager of the company.

Ans. Specialized activities that Mr Naresh is supposed
to perform as a human resource manager are:(Any
eight)

(1) Analysing jobs.

(i1) Recruitment

(ii1) Selection.

(iv) Placement and orientation.

(v) Training and development of employees.

(vi) Performance Appraisal.

(vii) Developing compensation and incentive plans.
(viii) Maintaining labour relations and union
management relations.

(ix) Handling grievances and complaints.

(x) Providing for social security and welfare of
employees.

(xi1) Defending the company in law suits and avoiding
legal complications.

%x8

4 marks

16

17

15

Q. It is deciding in advance what to do and how to
do. It is one of the basic managerialfunctions. It
requires that before doing something, the manager
must formulate anidea of how to work on a
particular task. This function is closely connected
withcreativity and innovation. It seeks to bridge
the gap between where we are and wherewe want
to go and is performed at all levels of management.
Inspite of this the function of management referred
above has a number oflimitations. Explain any two
such limitations.

Ans.Limitations of planning are:(Any two)

(i) Planning leads to rigidity.

(i1) Planning may not work in a dynamic environment.
(ii1) Planning reduces creativity.

(iv) Planning involves huge costs.

(v) Planning is a time consuming process.

(vi) Planning does not guarantee success.

% mark for
the
heading
+
1%, mark
for its
explanation

2x2

4 marks
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(if an examinee has not given the headings as
above but has given the correct explanation, full
credit should be given)

15 18 16 | Q. An environmental conscious multinational

company "AXN Ltd." follows certain welldefined

business principles that result to minimize the Y2 mark for

employee turnover. Followingare some of the identifying

important environmental factors followed by the principle

'AXN Ltd.' +

(1) Honour the law of every country in which it Y2 mark for

operates. the

(2) Respect the culture and customs of all nations. statement

(3) Provide clean and safe products to enhance the =¥+%

quality of life throughout theworld. =1 mark

(4) Develop a culture in the company that +

enhances individual creativity and teamwork while

honouring mutual trust and respect between Y2 mark for

management andlabour. identifying

From the above: the

(i) Identify and state any one general principle of dimension

management and any onedimension of business +

environment. Y2 mark for

(ii) Also identify any two values which the above the

guiding principles andenvironmental factors are statement

conveying to the society. =%+
=1 mark

Ans.(1) Principle of management:(Any one) +

(a) Stability of personnel

(b) Esprit de corps 1 mark for

(c) Initiative each value

=1x2

Dimension of business environment:(Any one) =2 marks

(a)Legal environment.

(b)Social environment. =1+1+2
= 4 marks

(i1) Values being conveyed: (Any two)

(a) Respect for law

(b) Cleanliness and hygiene

(c) Raising standard of living

(d) Secularism

(Or any other correct value)

14 19 17 | Q. Explain how does the understanding of business

environment help the man%ment inthe following:
(a) tapping useful resources ; and
(b) coping with rapid changes.

2 marks




Ans.

(a) Understanding of business environment helps in
tapping useful resources by designing the policies that
allow it to get the resources it needs so that it can
convert those resources into outputs that the
environment desires.

(b) Understanding of business environment helps in
coping with rapid changes by developing suitable
courses of action to deal with changes taking place in
the environment as well as the pace of change.

+

2 marks

4 marks

18

Q. State any four factors except diversification
which affect the fixed capital requirements of a
company.

Ans. Factors affecting the requirements of fixed
capital: (Any four)

(1) Nature of business as a trading concern needs a
lower investment in fixed assets as compared to a
manufacturing concern since it doesn’t require to
purchase plant and machinery.

(i1) Scale of operations as a larger organisation
operating at a higher scale needs bigger plant and
more space and hence higher investment in fixed
assets.

(ii1) Choice of technique as a capital intensive
organisation requires higher investment in plant and
machinery and thus requires higher fixed capital than
a labour intensive organisation.

(iv)Technology upgradationas industries where assets
become obsolete sooner require higher fixed capital to
purchase such assets.

(v) Higher growth prospects require higher investment
in fixed assets to meet anticipated demand quicker
(vi) Availability of financing alternatives like leasing
requires lower investment in fixed assets and hence
requires less fixed capital.

(vii) Collaboration reduces the level of investment in
fixed assets.

(If an examinee has given only the heading, 5
mark for each heading should be awarded)
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Q. Your company has setup a food processing unit
in Kashmir with a production capacity of 10,000
litres of apple juice per day. The company plans to
market the apple juice in tetra pack of 100
mililitres. Design a label for the same.

Ans. The following information is to be PROVIDED

1 mark for
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ON THE LABEL IN ANY FORM(Any four): each
information
Name of the product/ Appice =
Name of the manufacturer/ Fine Juice Ltd. 1x4
Address of the manufacturer/ 54, Chandni Chowk =
Net weight when packed/ 200 ml 4 marks
Manufacturing date/ 20" July 2015
Expiry date/ 20™ December 2015
Maximum retail price (MRP)/ 30
Batch number/ D 4567
Directions for use/ To be consumed within 3 days
of opening.
Contents/ Juice concentrate, sugar, preservatives.
(Full credit to be given if the examinee has written
any specifications with reference to apple juice)
20 21 20 | Q. A company has been registered under the
Companies Act with an authorized share capital of
Rs20,000 crores. Its registered office is situated in 2 marks for
Delhi and manufacturing unit in a backward the diagram
district of Rajasthan. Its marketing department is +
situated in Bhopal. The company is manufacturing
Fast Moving Consumer Goods (FMCG). 1 mark for
(i) Suggest with the help of a diagram a suitable each
organization structure for the company. statement
(ii) State any three advantages of this organization =
structure. 1x3
Ans. Divisional structure:
Managing Director 243
| =
ﬁ , 5 marks

Product 2
Purchase Marketing
Purchase Manufacturing Marketing

30

(Or any other correct diagram)




Advantages of Divisional structure: (any three)
(1) Product specialization helps in development of
varied skills.

(i1) Helps in fixation of responsibility.

(111) Promotes flexibility as each division is
autonomous.

(iv) Facilitates expansion and growth.

(If an examinee has not given the headings as
above but has given the correct explanation, no
marks should be deducted)
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Q. ‘The organizations which are keen on
developing effective communication, shouldadopt
suitable measures to overcome the barriers to
communication and improvecommunication
effectiveness.' Suggest and explain any such five
measures.

Ans.Measures to overcome communication barriers:
(Any five)

(1) Clarify the ideas before communicating.

(11) Communicate according to the needs of the
receiver.

(1i1) Consult others before communicating.

(iv) Be aware of the language, tone and content of the
message.

(v) Convey things of help and value to listeners.

(vi) Ensure proper feedback

(vil) Communicate for present as well as future.
(viii) Follow up communications

(ix) Be a good listener.

(If an examinee has given only the heading, /5
mark for each heading should be awarded)

% mark for
the heading
+
% mark for
each
explanation

1x5

5 marks
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Q.'I-phone India Ltd.' is a manufacturer of
advanced category of mobile phones. The company
trained its engineers from Japan. It markets its
mobile phones domesticallyas well as
internationally. The company had a substantial
market share and had aloyal customer following

1 mark for
identifying
each concept

because of quality of its i-phone. From the last 1x2
financialyear the company had been unable to =
achieve its targets because of competition in 2 marks
themarket. The company is planning to revamp its +
controlling system, 1 mark for
(i) Identify the concepts of management involved stating each
in the above para. step
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(ii) State the steps of the revamped controlling
process to be followed by thecompany to solve this
problem.

(iii) Also, state any one value which the company
wants to communicate to thesociety.

Ans. (i)Staffing and Controlling.

(i1) The twosteps which must be followed by the
company to solve this problem are:

(a) Analysing deviations.

(b) Taking corrective action

(ii1))Value which the company wants to communicate
to the society:(Any one)

(a) Serving the society by providing quality products.
(b) Growth and development.

1x2

2 marks
+
1 mark for
stating the
value
24+2+1

5 marks
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Q. Aman, Ahmad and Ally are partners in a
firmengaged in the distribution of dairy products
in Maharashtra state. Aman is a holder of Senior
Secondary SchoolCertificate from Central Board
of Secondary Education with Business Studies as
one of his elective subjects. Ahmad had done his
post graduation in History and Ally in dairy
farming. One day there was a serious discussion
between Ahmad and Ally regarding the nature of
management, Ahmad argued that management
was a profession. Whereas Ally argued against it
saying that the legal and medical profession are the
only professions because they fulfilll all the
conditions of profession.

Aman on the basis of his knowledge of business
studies explained the nature of management as a
profession to Ahmad and Ally.

Explain, how Aman would have satisfied both
Ahmad and Ally

Ans. Aman would have satisfied both Ahmed and
Ally by explaining the following featuresof
management as a profession.

(1) Well-defined body of knowledge:

All professions are based on a well-defined body of
knowledge that can be acquired through instruction.
Management too is based on a systematic body of
knowledge comprising well-defined principles. This
feature of profession is present in management.

%2 mark for
each heading
+
% mark for
its
explanation

1x5

5 marks

+

1 mark for
conclusion
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(i1) Restricted entry.

The entry to the above stated profession is restricted
through a prescribed qualification. But there is no
restriction on anyone being appointed as a manager in
any business enterprise. So, presently this feature of
profession is not present in management

(ii1) Professional association.

Legal and medical professions are affiliated to a
professional association like bar council and medical
council which regulates entry, grants certificate of
practice and formulates and enforces a code of
conduct. There are several associations ofpractising
managers in India, like the AIMA that has laid down a
code of conduct to regulate the activities of their
members. There is, however, no compulsion for
managers to be members of such an association.So,
presently this feature of profession is not present in

management

(iv) Ethical code of conduct.

Legal and medical professions are bound by a code of
conduct which guides the behaviour of its members.
AIMA has devised a code of conduct for Indian
managers but there is no statutory backing for this
code. So, presently this feature of profession is not
present in management.

(v) Service motive.

The motive of legal and medical profession is to serve
their client’s interests by rendering dedicated and
committed service. The basic purpose of management
to help the organisation achieve its goals by providing
good quality products at reasonable prices, thereby
serving the society is being increasingly recognised.
So, presently this feature of profession is not fully
present in management.

The above discussion shows that management does
not satisfy all the criteria of a profession.

Through the above discussion Aman would have been
able to satisfy both Ahmed and Ally by making them
understand that

Management is a profession but not a full fledged or a
true profession.
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Q. Describe the role of public relations in sales
promotion.
Ans. Role of Public Relations in sales promotion:
(Any four)

33




(i) Press Relations.

(i1) Product Publicity.

(ii1) Corporate Communication.

(iv) Lobbying.

(v) Counselling.

(vi) Smooth functioning of business.
(vi) Image building.

(vi1) Launching new products.

(viii) Helps in facing adverse publicity.
(ix) Supplement to advertising.

(x) Satisfying interest of different public groups.

(If an examinee has not given the headings but has
given the correct explanation, full credit should be
given)

% mark for
each heading
+
1 mark for
each
explanation
=1% x4

6marks
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Q. Explain the functions of financial market.

Ans. Functions of Financial market:

(1) Mobilisation of savings and channelising them into
most productive use.

(i) Facilitating price determination/ discovery.

(ii1) Providing liquidity to financial assets.

(iv) Reducing the cost of transactions.

(If an examinee has not given the headings as
above but has given the correct explanation, full
credit be given)

% mark for
the heading
+
1 marks for
each
explanation

1%x4

6 marks
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